7500cm?2 = ... mm?2 32000mm2 = ... m3

38,7dm%2 = ... m?2 37,5cm? = dm?
52,5m2 = ... cm?2 [ ] 11,50m?2 = .. mm-
L,AcmZ = . M2 0,062dm? = .. mm4
2kmZ = mZ |C 54000cm? = .. m?2
0,038m2 = .o cmzi“:’ 45600dM2 = oo M2
53,6cm? = ... m? [y 6.7mm? = ... cm?
680cm% = . mm? (9 0,002m? = ... cm?
S5600m2 = ... cm? |IL|  604cm? = ... mm?2
350m2 = ... km? 0,52km? = ... m?2
STmm2 = ... cm? || 20,9mm?Z = ... m?2
198,7m2 = ... dm? 41,82dm2 = ... cm?
0,25cm?2 = ... m?2 657cm? = m?2
L2050cm?2 = M2 3080cm? = ... Mmm?
7500cm?2 = ... mm?2 32000mm?2 = ... m4
38,7dm% = ... m?2 37,5cm? = dm?
52,5m2 = ... cm?2 [ ] 11,50m?2 = .. mm-
L 1cm? = . m?2 0,062dm2 = ... MmM4
2kmZ = mZ | 54000cm? = ... m?2
0,038m2 = ... cmzj\:) L5600dM2 = oo M2
53,6cm? = ... mZ [y 6.7mm? = ... cm?
680cm% = .. mm% (9 0,002m? = ... cm?
S5600m2 = ... cm? |IL|  604cm? = ... mm?
350m2 = ... km? 0,52km? = ... m?2
S7Tmm?2 = .. cm? || 20,9mm?2 = ... m?2
198,7m2 = ... dm? 41,82dm2 = ... cm?
0,25cm?2 = ... m?2 657cm? = m?2
dop Q@ Qb vaawien | m?2 3080cm? = ... mm?2
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